

$$\begin{vmatrix} 1 & f \\ 1 & r \end{vmatrix}$$

$$\begin{vmatrix} 1 & f \\ 1 & r \end{vmatrix} \Rightarrow \frac{-r-f}{\Delta-f} z-f \Rightarrow r z - \frac{-1r}{\Delta-f} + b \Rightarrow v z - \epsilon n + 11$$

$$r v + 4 n z - 1 \Rightarrow v z - \epsilon n = \frac{1}{r} \Rightarrow \frac{r}{v} z - \frac{-1r}{\Delta-f} + b \Rightarrow v z - \epsilon n + 11$$

$$1 \leq r v z \leq 1 \Rightarrow v z = \frac{1}{r} n + \frac{1}{r} \Rightarrow \frac{1}{r} \Rightarrow r \Rightarrow r(\epsilon) + b z r \Rightarrow v z - \epsilon n - 1.$$

$$\frac{r}{r} \Rightarrow 1 \Rightarrow \sqrt{r} \Rightarrow v - r z \sqrt{r} (n - \epsilon) \Rightarrow v - r z \sqrt{r} n - \epsilon \sqrt{r} \Rightarrow v z \sqrt{r} n + r - \epsilon \sqrt{r}$$

$$\begin{vmatrix} 1 & r \\ 1 & r \end{vmatrix}$$

$$\begin{vmatrix} 1 & r \\ 1 & r \end{vmatrix} \Rightarrow (r-1)^r + (r-1)^r \rightarrow \sqrt{r+1} \Rightarrow 5$$

$$r n \in v - r z. \quad \frac{|r(r) + f(r) - w|}{\sqrt{r+1}} \geq \frac{r+1-r}{\Delta} \geq r$$

$$f n + 4 v z 1$$

$$r n + 4 v z 4 \Rightarrow \epsilon n + 4 v z 1 r$$

$$\Rightarrow \epsilon n + 4 v = \frac{1r+1}{r} \Rightarrow \epsilon n + 4 v \geq 2v$$

$$\Rightarrow \frac{|1r-1|}{\sqrt{1r+1}} \geq \frac{r}{r\sqrt{1r}} \geq \frac{r}{r\sqrt{1r}} \Rightarrow \frac{r\sqrt{1r}}{1r}$$

$$r n - 2 v z 1 \quad r n + 2 v z r$$

$$\frac{|r n - 2 v - 1|}{\sqrt{r+1}} \geq \frac{|r n + 2 v - r|}{\sqrt{r+1}} \Rightarrow r n - 2 v - 1 \geq r n + 2 v - r \Rightarrow n - \Delta v z - r$$

$$\begin{matrix} n z - \epsilon n + r \\ v z - \epsilon n + \Delta \end{matrix} \quad \frac{-r-f}{1+r} \Rightarrow \left| \frac{-\Delta}{-\Delta} \right| \Rightarrow 1 \rightarrow \tan \theta z 1 \quad \theta \in \Delta^\circ \quad \text{محاوره (او راس) 1 و 0}$$

$$B \begin{vmatrix} -\Delta \\ f \end{vmatrix} \quad A \begin{vmatrix} r \\ -r \end{vmatrix}$$

$$(-\Delta-r)^r + (\epsilon - (-r))^r \Rightarrow \sqrt{r+1} z 1.$$

$$\begin{vmatrix} -\Delta-r \\ \epsilon - (-r) \end{vmatrix} \begin{vmatrix} 1 \\ 1 \end{vmatrix}$$

$$G(-r, r)$$

$$\begin{vmatrix} -1 \\ -1r \end{vmatrix} \begin{vmatrix} -r \\ r \end{vmatrix} \begin{vmatrix} r \\ 1 \end{vmatrix}$$

$$\begin{matrix} -1. -r + r \geq -r \\ -1r - r + 1 \geq -r \end{matrix}$$

$$\begin{matrix} r & 1 & 1 \\ -r & 1 & 1 \\ -1. & -1r & 1 \end{matrix}$$

$$r \left(\frac{r}{r} - \frac{1}{-1r} \right) - \left(-\frac{r}{r} - \frac{1}{-1.} \right) + (r - (-r)) \Rightarrow \epsilon n - 1 + \Delta r \Rightarrow 4r \Rightarrow \frac{4r}{r} \geq \epsilon n$$

$$v z \frac{r n + 1}{\epsilon n - r}$$

$$-v z \frac{r n + 1}{\epsilon n - r} \Rightarrow v z \frac{r n + 1}{r - \epsilon n}$$

$$v z \frac{-r n + 1}{-\epsilon n - r}$$

$$n z \frac{r v + 1}{\epsilon v - r} \geq n \Rightarrow - \frac{-r n - 1}{\epsilon n - r} \Rightarrow \frac{r n + 1}{\epsilon n - r} \geq v$$

$$-n z \frac{-r v + 1}{-\epsilon v - r} \geq n \Rightarrow - \frac{r n - 1}{\epsilon n + r} \Rightarrow \frac{1 - r n}{\epsilon n + r} \geq v$$

$$v = \frac{\gamma n + 1}{n - \gamma}$$

$$n' = n - \gamma$$

$$n = n' + \gamma$$

$$v' - \gamma = \frac{\gamma(n' + \gamma) + 1}{(n' + \gamma) - \gamma} \Rightarrow \frac{\gamma n' + \delta}{n' - 1} = v' - \gamma$$

$$v' = \frac{\delta n' + \gamma}{n' - 1}$$

$$(1, 1.70)$$

$$\frac{\gamma n' + \delta}{n' - 1} + \gamma \Rightarrow \frac{\delta n' + \gamma}{n' - 1}$$

$$n' = n - \gamma \Rightarrow n = n' + \gamma$$

$$v' = v - \gamma \Rightarrow v = v' + \gamma$$

$$v' + \gamma = \frac{\gamma(n' + \gamma) + 1}{(n' + \gamma) - \gamma} \Rightarrow \frac{\gamma n' + \gamma}{n'} = v' + \gamma \Rightarrow v' = \frac{\gamma n' + \gamma - \gamma n'}{n'}$$

$$\begin{cases} \gamma n + \epsilon v = \gamma \\ n - \delta v = 1 \end{cases}$$

$$\Rightarrow \begin{cases} \gamma n + \epsilon v = \gamma \\ -\gamma n + 1\delta v = -\gamma \end{cases}$$

$$19v = -1 \Rightarrow v = -\frac{1}{19}$$

$$v' = \frac{\gamma}{n'}$$

$$\gamma n + \frac{-\epsilon}{19} = \gamma$$

$$\gamma n = \frac{\epsilon}{19} \Rightarrow n = \frac{\frac{\epsilon}{19}}{\gamma} = \frac{1\epsilon}{19\gamma}$$

$$n = -\frac{\epsilon - (-1.0)}{-1\delta - \epsilon} = \frac{1\epsilon}{19} \Rightarrow n \cdot v = \frac{\gamma - \gamma}{-19} = -\frac{1}{19} = v$$

نشان امامی

$$(19, 1.70)$$